A 2,

X \
< @‘A

WiE B

MTA — BL — 650 - SRCA-3 —100
—

— EEPEY — ENEEEE —

BRIV RS

I
BLSA o=

BLS>U—-ZOOYJ2 bO—9547, L -
BEAZ kO—20%, 2050mms THBA 4, e Ateey 2 s
WY TWI=PHA FT. RATRES20kg, LE MEX1.0% SRE1S
BWES&EI31200mm/secT. BESERHE, ; T
= =
114
95
9 =[] i ) | i §
1 1 5 ~3
i o at s “‘1
N-MEX1.0% S & 11 156
ARE=7|[500] 250|450 || 650 | 85011050 1250]1450]1650| 1850|2050 + o= = .
L |480|580|780 |980 [1180[1380]15801780(1980|2180(2380 g[
A |100 [ 200|200 | 200 | 200 | 200 [200 | 200 | 200 | 200 | 200 | = =S o
M [1 123457 ]|7]8]9]10 200
| N |6 |68 [10]12]14 |16 [ 18|20 |22 |24 91 L2 e A .89 ]
Fakg| 9.3 [10.0/11.5[13.0[14.5[16.0 17,5 | 19.0[20.5|22.0 | 23.5
HEAMERT— 28 EAEEX bO— 714, 150~650mmE E ) £T,
BLTA®O Y FREL A T,
B7L—*ET. BEERICRE,
IFPIYE5E < M=
pemmn o BIPOUYSE, MERICERN TR,
LRA(LRA-V) LRA-B(LRA-BV)
- L AbA—7, 80, - L L AkO-7
80 30, 180 40 80
15, 1, 2-M5X0.8 4-M5X038 15 2-M5X0.8% EE10
e FVRE15 R gl
_' T ———} s
e H-EH sl 8 -
i il * % il
|75 a0 _ lzs
B
o
i W
= .:'._ TIell < EH
= kil ]
f 23 [
N 83
8 A 2MEX0.8% FEE10 2MEX08% SEE10
\ N — _—
Hi—{——T— = ) ———e—0 —H3
| = | -
|_60_] 75 60 | \A s
190 ! B0X(N-1) 5, g1 I'EJ 80 60%(N-1) S
HBESMA S FELIMB 2D (1 7R) \ §
Y N-M83<1.25
[ 0] 0] 0 | 430 A‘B"n"ﬁ%#ﬁ & 0 8] 01430
L [630[730 |830 [ 930 L | 460|560 | 660 | 760
N 6 |8 |9 |11 N 5 |7 |8 [10
s [0 |40 |80 |80 S | 6040 |80 |60
B 2kg| 9.0 [10.2[11.4][1256 Eeka| 81 (9.3 [105]11.7
16




